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Maths - Comparing Numbers 1 (page 6)
This worksheet includes the symbols <> and =. These are comparison symbols used to
represent more than (>), less than (<) and equal to ().

Question 1 - There are 3 comparison statements that must be matched to the correct
image. The first step to completing this question is to find the value of each image. A is 54,
Bis34and Cis 74.

A. equal to 54; B, < 45 and C. more then 70 but less than 75.

Question 2 - There are two images that represent different numbers. Children must select
<, > or = to complete the given comparison statement. They can use the images to
identify which is the greatest and smallest number.

43 is less than 60 so the missing symbol is <.

Question 3 - This question includes a place value chart. Find the definition on page 3. The
place value chart is compared with a partially completed number frack. A number frack
is a representation of the order of numbers when counting. Firstly, children must identify
the number the amrow is pointing to on the number frack. This is one less than 65; the
missing number is 64. Following this, children should identify the number represented by
the place value chart. There are 7 tens and 2 ones so the total number is 72.

64 is less than 72 so the statement is false. The correct symbol is <.
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Maths - Comparing Numbers 2 (page 8)
This worksheet includes the symbols <> and =. These are comparison symbols used fo
represent more than (>), less than (<) and equal to ().

Question 1 - There are 2 comparisons that need to be completed with the correct symbol.
Each comparison is made up a number and Base 10 (see page 2 for the definition).
Comparison A shows the numbers 34 and 65. Comparison B shows the numbers 65 and 65.

A. 34is < 65;B. 65 =65

Question 2 - This question gives 6 comparison statements, 4 of which are incorrect.
Children are asked to identify the two correct statements. To do this, they must check all
statements to find any emors.

43 <76 and 81 < 90 are the two comect statements.

Question 3 - This question is a word problem. Emma has one round gem and has a total of
20 points. Sarah has two square gems and has a total of 12 points. Sarah thinks she has
more points than Emma because she has more gems. Children are asked to explain if
Sarah is correct. To do this, they must compare the numbers 20 and 12.

Sarah is incorect. Although she has more gems, 20 > 12.
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Maths - Counting to 100 (page 2)

Question 1 - This question gives a sequence that is formed using Base 10. Base 10 refers to
a physical resource which represents numbers. The small cubes represent ‘ones'; the rods
represent ‘tens’ and are made up of 10 small cubes. The Base 10 shows the sequence
increases by one with each number. The numbers are 51, 52 and 53.

54 comes next in the sequence.

Question 2 - Children are asked to write each number into the Venn diagram depending
on its value. A Venn diagram is a way of sorting a group of different things. It allows us to
sort a group of data into two or three circles which overlap in the middle. Numbers
between 10 and 50 will go in the first circle and numbers between 40 and 100 go in the
second circle. Any numbers between 40 and 50 must be written in the overlapping
section.

The completed Venn diagram will look as follows:
10-50] [40-100

Question 3 - Place value counters refer to a physical resource which represent numbers.
They are usually in different colours and have different numbers written on them, to
represent ‘ones’, ‘fens', *hundreds' etc. This question gives 10 place value counters.
Children must explain whether Beth has counted the place value counters corectly.

Beth is incorrect. She has placed the digits the wrong way around. The answer is 46.
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Maths - Partiioning Numbers (page 4)
Partitioning is when a number is split into different parts, usually into hundreds, tens and
ones. For example, the number 547 can be partitioned info 500, 40 and 7.

Question 1 - There are 4 images that show numbers that have been partitioned into tens
and ones. Children must circle all the images that have 6 tens.

A, B and C allhave 6 tens and should be circled. D has 2 tens and should not be circled.

Question 2 - Similar to the previous question, each number has been partitioned into tens
and ones. The red beads represent tens and the green beads represent ones. Children
much match each image to the correct number.

The images should be matched as follows: A shows 52; B shows 78 and C shows 84.

Question 3 - This question includes a place value chart. A place value chart is used fo
identify the value of the digits that make up a number. The chart is broken up into
columns which represent ‘tens' and ‘ones'. There are 6 counters in the ‘tens’ column
‘which represents the number 60. There are 3 counters in the ‘ones’ column so the total
number is 63.

The question explains that two counters are missing. Children must explore what number is
represented if two more counters are added. Children can add them to either column, or
one in each column to find the three possible answers.

If both counters are added to the ‘tens' column, the total number would be 83. If both
counters are added to the ‘ones' column, the total number would be 65. If one counter is
added to each column, the total number would be 74.





 




 

